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PAPER-II
HOME SCIENCE
Signature and Name of Invigilator
1. (Signature) OMR Sheet NO. 1 .oooeiiiiiiiiii e
(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.

I 1]2

Time : 1/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(i) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will

not be evaluated. 6.
6. Read instructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. 8.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10
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HOME SCIENCE
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

1. From which plant source gluten is

derived ?
(A) Soya (B) Rice
(C) Com (D) Wheat

2. HDL is synthesized and secreted
from

(B) Liver
(D) Muscles

(A) Pancreas
(C) Kidneys

3. Which food service system produces
food at a central unit and distributes
processed food to other smaller units.

(A) Conventional
(B) Assembly line
(C) Commissary
(D) Cook and Chill

4.  Which of the following governs the
selection of needle ?

(A) Type of thread
(B) Type of fabric
(C) Stitch length

(D) Tension of thread

5.  Which of the following is not a
design repeat ?

(A) Drop
(C) Rotary

(B) Mirror
(D) Satin

6.  The term ‘Therbligs’ was given by
(A) Prang
(B) Gilbreth
(C) Denmann W. Ross
(D) Mundell

7.  Releasing pent up emotional energy is

(A) Body control

(B) Emotional Catharsis
(C) Mental Balance

(D) Emotional Security

8.  Deliberate manipulation of people’s
beliefs, values and behaviour through
words, gestures, images is known as

(A) Publicity (B) Propaganda
(C) Persuasion (D) Perception

9.  Triggering the mind of participants
to finding out solutions for a
problem is called as

(A) Colloquism
(B) Symposium
(C) Debate

(D) Brain Storming

10. Chi-square test is used

(A) When there are only two
groups for comparison

(B) When the data is in
frequencies

(C) To check accuracy of data

(D) When there are three or more
groups for comparison

11. Which of the following foods are
produced by involving lactic acid
fermentation ?

(a) Beer (b)  Yogurt

(c) Cheese (d) Vinegar
(A) (@and(b) (B) (b)and(c)
(€©) (c)and(d) (D) (d)and(a)
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(a) R (b) @
(© = (@R (d) Few
(A) (@3 D) (B) (b) 3 (c)
(©) (X (D) (d) 3R (a)
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12. Which of the following foods do not 16. Which among the following are

contain gluten and is acceptable for neutral colours ?
patients with celiac disease to I.  Black II. Red
consume ? III. Green IV. White

(a) Wheat flour (b) Rice flour
(¢) Gram flour (d) Corn flour
(A) (b), (c), (d) are correct

(B) (a), (b), (c) are correct (C) TIand III are correct
(©) (c), (d), (a) are correct (D) Tand ]V are correct
(D) (d), (a), (b) are correct

(A) I, II and III are correct
(B) Tand II are correct

17. Development is a product of

13. The tool of Management that does (1) Heredity and Environment
not deal Wit}.l pe‘rsonnel (ii)) Learning and Maturation
(a)  Organization chart (iii) Learning and Training

Eb)) ?rl(;dglctioﬁn Echedule (iv) Learning through observation
c¢) Job description

(d) Job specification (A) (1), (i1) and (iii) are correct
(e) Budget (B) (1) and (ii) are correct

(f) Communication (C) (1), (i11) and (iv) are correct
Code : (D) (1) and (iv) are correct
(A) (a)and (b) (B) (b)and (e)
(© (©and(c) (D) (f)and (b) 18. Non-formal education is
(i) an organised
14. Ip a pattern, darts can be replaced by (i) systematic
() tucks (i) gather (iii) highly institutionalised
(ii1)) styleline  (iv) control seam . . ..
Cod (iv) an educational activity
ode :

(A) (i) and (ii) are correct Code o .

(B) (i) and (iii) are correct (A) (i), (ii) and (iv) are correct
(C) (ii) and (iv) are correct (B) (i) and (ii) are correct

(D) (iii) and (iv) are correct (©) (1), (i1) and (ii1) are correct

) ) (D) (i), (i1i) and (iv) are correct
15. Which of the following methods of

printing are currently practised

lareely in  the Indian textile 19. Which of the following are visual

industry ? aids ?

(i)  Screen Printing (i)  Black Board

(i) Digital (i1) Posters

(iii)) Roller Printing (iii)) Public address system

(iv) Block Printing (iv) Flash cards

Code : (A) (1), (11) and (iv) are correct
(A) (?i), Qii) and'QV) are correct (B) (i), (ii) and (iv) are correct
(B) (1), (1) and (iii) are correct (C) (i) and (iv) are correct

(©) (), (ii1) and (iv) are correct
(D) (), (i1) and (iv) are correct
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12. T=fafea § 9 o9 9 @ ggei o 16. THfafEa 9 9 %9 9 d2& Tra & 2
T T A ¥ R fafewss AT g L & . &
??’ﬁmﬁwwwaﬁ@ . & V. &g
@ New o (b) T A (A) I,Haﬁﬂnzﬁr%n
(c) =AW R (d) TR H I (B) IRITEIE |
(A) (b), (c) 3T (d) & & | (©) Iaﬁ?lllﬂﬁ% |
(B) (a), (b) 3T (c) Tl & | (D) 13RIVEET |
©) (c), (d) 3T (a) W& |
(D) (d), (a) 3 (b) W& | 17. foremra fongent aomg € 2

13. VST T B G SUHOT FHH 9 () AT Te STarERo]
T T T 2 (i) e Te afaeE
(a) e e (iff) @A e e
Eb)) STe (T 1) T fareror @) w
(d) St @ %) w5 o (A) (?)’ (1.1 )Ea(“l).aﬁ% !
©) T (B) ()ud (i) were |
(H FER (©) (i), (iii)qs’r(iv)u%r% |
B! (D) ()T (v) T E |
(A) (a)3T() (B) (b) 3R (e)

(C) (e)3R(c) (D) (f) 3 (b) 18. U=

14. = (42 | S B Ftatad & g (i) T B € |
ST ST Fehell € (i) AT BT |
i == (i) T (iii) 3Fcater Genfe gl ¢ |
(i) wEA@ET (v) fFaEtEa e (iv) e ety & |
Code : N
(A) (i) 3 (i) FIE | ST SN
(B) (i) 39 (iii) WA T | (A) (@), (i) T (iv) |
(©) (i) 3R (iv) W T | (B) (i)w(ii)oﬂfr% N
(D) (iii) 3T (iv) W& | (©) (), (i) Ud (iii) W & |

15. 9RAT 9% ST | 3TSTohol =21 hi (D) (i), (iii) T (iv) W ¥ |
Tory farfr =1 e SuamT foham ST & 2 .

() TR T 19. Ffefad & 9 gites 9 €
(i) fefstea (i) =HaS

(iii) Ter fem (i) X

(iv) AT WfeT (iii) <% T Yomel
% (iv) TAT HS

(A) (i) (iii) 3 (Qv) uz“r% | (A) (i), (iii) 3R (iv) W€ |
(B) (i) (ii) ¥ (iii) W€ | B) (), (ii) 2R (iv) T ¥ |
(©) (i) (iid) 3R Gv) ¥ | (©) (i) 3T (iv) T |

(D) () (i) R (iv) T E | D) (), (i) 3 (i) T & |
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20.

21.

The most appropriate statistical test
for analysing qualitative data is

(i) Pearson’sr

(i) Sign test

(ii1) Kruskal-Wallis test

(iv) F-test

(A) both (i) & (ii) are correct

(B) Dboth (iii) & (iv) are correct

(C) Dboth (1) & (iii) are correct

(D) both (i) & (iii) are correct

Assertion (A) :  Browning in
condensed milk occurs due to
Millard reaction.

24,

Assertion (A) :  Break point of the
collar is marked on the placket
extension.

Reason (R) : Roll line turns back
from the centre front line.

Code :

(A) Both (A) and (R) are false.
(B) Both (A) and (R) are true.

(C©) (A)is correct, but (R) is false.
(D) (A)is false, but (R) is correct.

Reason (R) : It is due to reaction 25. Asseﬁtmll; E)A)k: Bgocade, d d
between reducing Sugar and fat. s acquar an

Code : tapestry can be classified under

(A) Both (A) and (R) are true. same category.

(B) Both (A) and (R) are false. Reason (R) : All can be made on the

(C) (A)is true, but (R) is false. Jacquard loom.

(D) (A)is false, but (R) is true. Code :

22, Assertion (A) E (A) Both (A) and (R) are false.
. Assertion : nergy

requirements during lactation is (B)  Both (A) and (R) are correct.
higher than during pregnancy. (C) (A)is correct, but (R) is false.

Reason (R) : As the tum over of (D) (A)is false, but (R) is correct.
iron is greater during lactation
because of milk secretion.

Code : 26. Assertion (A) : Home Management

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

is not an all encompassing
concept compared to decision
making or problem solving.

Reason (R) : Home Management
does not consider the totality of

23. Assertion (A): Large food managerial functioning.
service institutions use formal
competitive bid buying. Code :

Reason (R) : Here the purchaser
goes to the whole sale market
and bids the price.

Code :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

(A) (A)is false, but (R) is true
(B) (A)is true and (R) is false

(C) Both (A) and (R) are true, but
(R) is not the complete
explanation.

(D) Both (A) and (R) are false.
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20. TUMHE SRSl & favewor % few 24, AT (A) : FOR F IF U
Tty UG TR 0T & e % T st o¢ fafe
(i) URRET 3R (TRRETH 1) S
(i) W=
(iil) HEHST AT FRUT (R) : I e T 37 &1 o
(iv) Th-o= Ui i 3T ggdl € |
(A) (i) 3T (i) SAT W T | _—
(B) (iii) 3 (iv) 341 W& & | ° . .
(©) (i) 3 (iii) T T | (A) (A) &R (R) 5T fa € |
(D) (i) 3R (iii) 31 W& & | (B) (A) AR (R) T T |
. . (C) (A)WEl g, W (R) e & |
21. W (A) : @EMHd g9 H R .
fetre ufafshan & FROT BT & | (D) (A) Fre e, W (R) Wl € |
HRUT : (R) I& NI 96 9 a4 o
o B ATt HiE ¥ B | 25. FWEwEA (A) @ FHS (SR, TN
%< : E), wwE SR e (=
(A) (A) T (R) 31 & & | FeebT) I Th & Al F aiiepe fepa
(B) (A)T (R)SHITem & 1 ST HHA € |
(C) (A)WIE, efeh (R) TeTd € | HRUT (R) : T BT SThg HE T T
(D) (A) e &, Wik (R) TR | sraE |
22. AfWwe (A) : uEERRT " OSeIl wl B
aﬁﬂ a?;aﬁﬁ THierT i e HAferh (A) (A) 3R (R) 3T frer ¥ |
HROT (R) |: Fifeh e § 39 & (B) (A) 3R (R) 3FI WE < | '
HE & HROT EA B AT 3 (C) (A)WEl g, W (R) e & |
m?ﬁ‘%' (D) (A) e & =g (R) W& € |
(Z) ﬁ(A)aﬂr(R)aﬁ%n
(B) ﬁg;ﬂ;ﬂg{)m%@: 26. AfWHAT (A) : U o T wEE
© (A (R)Teal & | THEE H O H ORI
(D) (A) T & 3T (R) el <1 HHTEYN RN F6l ¢ |
23. AfUPeA (A) : TRT Fa1 & I TH HRUT (R) : TeUT Yereehia BRI
AT Waee e foe STET o 1 FUTar W foar T e g |
UGN A € | _—
HIOT (R) : T&T shal ek TSI | ST &t '
Frd B Sl T (A) (A) g, W= (R)FAE |
% B) (A)TAE, R) fqen & |
(A) (A) IR R)TA TAE | B @ W.( : .
(B) (A) 3R (R) T 3/ € | (© (A) ¥R (R) =HI & & T (R)
(©) (A)T= ¥, W (R) 3G ¥ | T TR T
(D) (A) AT, W (R) TAE | ) (A) 3T (R) 3T e & |
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27.

28.

29.

Assertion (A) : Ego deals with
the real world. It is based on
reality principle.

Reason (R) : Ego searches for real
objects to satisfy the need. The
hungry person must get real
food to satisfy the hunger.

Code :

(A) Both (A) and (R) are true, (R)
is the correct explanation.

(B) Both (A) and (R) are true, (R)
is not correct explanation.

(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Assertion (A) :
an essential
counsellor.

Reason (R) Counselling
relationship will be effective
only if the counsellor maintain
confidentiality.

Code :

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Confidentiality is
quality of the

Assertion (A) :  All individuals in
a social system do not adopt an
innovation at the same time.

Reason (R) But they adopt
innovation in an ordered time
sequence.

Code :

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

30.

31.

32.

33.

Assertion (A) : A non-symmetric
distribution is also described as
skewed distribution.

Reason (R) : In a skewed
distribution the length of one of
the tails, relative to the central
section is disproportionate to the
other.

Code :

(A) Both (A) & (R) are true and

(R) is the correct explanation.

(B) Both (A) and (R) are true.

(C) (A)is false, but (R) is true.

(D) (A)is true, but (R) is false.

Arrange the right sequence in
decreasing order of protein content
in food.

1. Bread ii.  Cheese

iii.  Butter iv. Boiled egg
(A) 1i,ii,1ii,iv  (B) i, iii, iv, 1
(C) iii, 1,1, iv (D) 1iv,ii, i, iii

Give the sequential involvement of
enzymes for the digestion of food in
the GIT.

(a) Isomaltase (b) Pepsin

(c) Ptylin (d) Amylase
Code :

A) (@ () d (©

B) (© () @ (@

© @ @ b (©

D) b @ (© @

Give the sequence in which a
purchase officer places a purchase
order ?

(a) Develops order form

(b) Identifies the vendor

(c)  Writes specification

(d) Identifies need

(e) Selects method of purchase
Code :

(A) (@ (b) (¢) (e) (d)

B) (@ () (@ () (b)

©) ® (© () (a (d)

D) (©) (a) (e) (b) (d)
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27. AWHYA (A) : 3H IATH GOR 9 30. 3rfuped (A) : AT fadwor / s
T Tl & | T8 ardtaehdl % F foum faaeor o ofenfya fear
TogTT W TEa | S | . o ‘

FHROT (R) : 3H SEIHAT Hl T ﬁ(g)é;r;q lqd{;' L; ’ Eﬁlﬂ@jﬂg@;{
F % fon e e qoTT H §E § ST &t € |
G A § | T g Al _—

" T F fore arefers W € (A) (A) 3R (R) T ¥ £, 3K (R)
feerr =fe | T A |

T (B) (A) 3R R)THAFAE |

(A) (A) T (R) <FT T & (R) T (©) (A foe & T (R) FT € |

A E | (D) (A) W& W= (R) e €

® @ e <R>q§“;?ﬁ AR | 31 wem W we wﬁas W

() (A)TEE "R)TTT | T

(D) (A) Tl &, W= (R) T ¥ | i TR i =i (R

iii. HoaT iv. ST g Ul

28. AMUHAT (A) : TUFIAT TRIHSETAT i (A) 1, ii,iii, iv - (B) i, iii, 1v, i
S et & | (©) iii,i,ii,iv (D) iv, ii, i, iii

HROT (R) : WA Fe shefel Tl 32. GIT ¥ @& WY & UeF & o
STl ST RIS e =T i ST Tl TaTed :
I T E | (a) oee WeeE (b) OureE

FHT (c) MM (d) uferd

(A) (A) I R)FAM AT E | H

(B) (A) ﬁT(R)ﬁ&l@T% | A) (@ (b @ (©

B) (© (b @ (a

(©) (A)FT & TG (R) e | © @ @ b ©

(D) (A) o &, w=g (R) ¥ € | D) (b) (@ (©) (d)

‘ 33. w9 AUER fHE SFHH # WiT &

29, fupe (A) : 9IS ZEwm o ST AT T 0
iR U & GHT W A (a) S EH Y |
T ST € | (b)  Tashar =l TEaH AT T |

HROT (R) : W] T 5 (c) oo fearon forman ¥ |
T STRH H ST € | (d) STETEHAT P TETH HIAT§ |

ETE (e) BRI P I BT T FATE |

(A) (A) IR R) TN TIE | FT

e I V- FEE

C a &
(©) (&) FAE T (R) FAE | © B © © @ @
(D) (A) oG &, /e (R) TAE | D) () (@ (e) (b) (d)
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34. Give the correct sequence in the 38. Steps to be followed in applying
production of garments : Participatory Rural Appraisal (PRA)
(a) labelling (b) assembling techniques
(c) cutting (d) bundling (i)  Build up personal rapport with
Code : villagers.

(A) (@ () @ (0 (i) Identify villagers who are
B) (@ (c) (b) (d) willing to  share their
©) (© (@ (@ (b experiences.
D) () @ (© () (iii) Setting the climate for
‘ discussion.

35. Give .the corre.ct. sequence of (iv) Meet the villagers
producing synthetic fibres. )

(2) Treatment with finishing (v) Select suitable place for
chemicals Iinterview.

(b) Extrusion (vi) Show full interest and

(c) Polymerization enthusiasm.

(d) Dissolving in solution Code :

Code : (A) (), (v), (i1), (v), (iid), (vi)

A () @ (@ (o) (B) (iv), (v), (iii), (i), (vi), (ii)

% Eg)) ((8 g % (©) V), (), (i), (vi), (i), (v)

D) © @ & (@ (D) (v), (vi), (@), (iv), (ii1), (i1)
36. Indicate the correct sequence of 39.  Arrange the stages of the adoption
activities in the Home Management process In correct sequence.
process. (i) Interest (i) Awareness
(A) Planning, organisation, (ii1)) Evaluation (iv) Adoption
feedback, implementation. (v) Trial

(B) Planmng, orgamsatlon, (A) (1), (11), (111), (V), (IV)
implementation, feedback. B) ). (i), (D). (iv), (iii)

(C) Planning, implementation, NG T
organisation, feedback. (©) (i), (), (i), (v), (iv)

(D) Planning, feedback, (D)  (iii), (v), (i1), (1), (iv)
organisation, implementation.

40. Sequence the following scales of

37. Arrange the stages of Psycho-Social measurement from the lowest to the
development in correct sequence highest :

(1)  Generativity Vs. Stagnation (i) Interval scale
(11) Identity Vs. Role confus‘ion (i)  Ordinal scale
(%11) Ego Igtegrlty VS'. Despair (iii) Nominal scale
(iv) Initiative Vs. Guilt . .

Codes : (iv) Ratio scale

(A) (i), (i), (iii) and (iv) (A) (i), (i), (), (v)
(B) (iv), (ii), (i) and (iii) B)  (@v), (1), (iD), (iii)
(C) (iii), (i1), (iv) and (i) (C) (i), (i1), (4), (iv)
(D) (i), (iv), (1) and (iii) (D) (i), (ii), (v), (i)
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34, URYET % SR S Gl 3FhY SIS 38. Ufefquedl W WA (W.SRT)
(a) S T qehich Uge e H R @O
(b) HASH HAT AT S 3T feam ST & 2
(c) e () TEETEEr % AT ST g
(d) TS I T AT |
%! ii et S TEE il
A) (@ b @ (0 w ?ﬂﬁ Waﬁﬁaﬁwﬁ
B) (@ (¢ (b) @
©) () (@ (d) (b) (i) 9R=AT % for AR IR T |
D) ®) @ (© (a (iv) THaTEEr s e |

35. FOM W & IERA F FEl SFHA (V) URTHR & ford Sugad ©= &
ISP TIT AT |
(a)  ORHOT THRAT & WY 3TER (vi) I ot qer 3T feE |
(b) =X epre i fopam Fz:

g T (&) (@) V), G, (V). i), (v

%z (B) (@), (v), (iii), (i), (vi), (i1)

(A) () (@) @ (© (©) (iv), (@), (1), (v1), (iid), (V)

B) () () (a (b) (D) (v), (vi), (1), (iv), (iii), (ii)

© @ b © @

D) () @ (b) @ . 39. =% TEUT WA # srEaensl & aE

36. & Ve S AieHAT W TlAtaredr 1 el ST W A Hi
FEEE G e (i) ST
(A) TS, FIeH, UIag=H-, ) )

T (i) HAHA (iv) T T8ul
(B) fasm, dweq, fhareas, (v) S % ford

Eﬁ?ﬁmﬁ ' (A) (@), (ib), (i), (v), (iv)
(C) T™ISHA, haTadH, e, (B) (v), (1), (ii), (iv), (iii)
(D) TS, UiqgeT, TiTeA, © (H) ® (H.l.) (\f) QV)

o (D) (ii), (v), (i), (), (v)

37. TA-GmIee fowE b sreemet L. .

@ w0 1 forfan 40. = % FrefeEd quE @ e |
(i)  ScaEhar AT ISk ST o STIRH H oA Y
(i) TEE T S T (i) T=@d A
(i) 3TEH. TehIeh{OT/ AT ST (i) 3ffETet A
. = (iii) AfH=eT AT
(iv) TSI/ S ST TR ,
o @iv) T A
(A) (@), (i), (i) 317 (iv) (A) (i), i), @), @v)
(B) (iv), (ii), (i) 3 (iii) (B)  (iv), (1), (11), (1)
(C) (i), (ii), (iv) 3R (i) (©) (ib), (iD), (@), (iv)
D) (i), (iv), (i) 3R (iii) D)  (ib), (i), (iv), (i)
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41.

42,

43.

Match the foods in List-I to it’s
pigments in List-II.

List-I List-I1

(Food) (Pigments)
(a) Beetroot 1. Flavones
(b) Carrot ii. Betalin

(¢) Onions iii. Chlorophyll
(d) Spinach iv. Carotenoids
Code :

@ @ © @
A) i i i v
@B) i iv i il
©) i i iv i
D) iv i i il

Match the glands with their
respective hormones :
(a) acells i. Adrenal
pancreas corticoid
steroid
(b) Adrenal ii. Insulin
cortex
(c) Pcells iii. Prolactin
pancrease
(d) Pituitary  iv. Glucagon
Code :
@ () (¢ ()
(A) iv i i il

B) i i il v

© iv i 1 i

(D) i i il v

Match the catering unit with the right
type of method of service.

Catering Unit Method of

Service
(a) Cafeteria 1. Centralized
(b) Hospital ii. Scramble
(c) Railways iii. Buffet

(d) Conference iv. Plated service
Hall

Code :

@ (») © @
(A i i il iv
B) ii i iv il

© m v 1 1
D) v i o1 i

Latest Sarkari Jobs, Govt Exam Results
Vacancies and updates on one click

44.

45.

46.

Match the fashion terms given in
List-I with their meanings given in
List-II.

List-I List-I1
(a) Classic 1i. exclusive custom
fitted clothing
(b) Fad ii. ready to wear
(c) Haute- iii. last through ages
couture
(d) Pret-a- iv. short lived craze
porter
Code :
@ () () (@
(A) i i i iv

B) 11 iv i ii
© i i iv i

D) iv i i i
Match List-I with List-II.

List-I List-I1
(a) Cotton i. Plant stem
(b) Pineapple 1ii. Seed hair
(¢) Flax iii. Plant leaf
(d) Coir iv. Fruit husk
Code :

(@ b (© @
(A it 1 i1 iv
B) i i iv il
(©) i oivooi i
D) iv TS VR |
Match the following in List-I with
List-II.

List-I List-1I
I Human 1. Interrelated
Resources
I Resources 2. Recurring
IIT Routine 3. Golden oblong
decisions
IV Proportion 4. Intangible
Code :
I o 1ur Iv
(A) 4 1 2 3
B) 4 1 3 2
<o 1 2 3 4
D) 2 4 1 3



41. QA1 & QT wERd B gE-I % a0

42,

43.

aaﬁé;wﬁwsﬁ
eh-1 TR-11

(ETer uaTed) (3T 5=
(a) FH<T i, TEE
(b) TR ii. et
(c) =S iii. FARITEA
(d) UTAH iv. HEAEET
E T

@ @ © @
A) i i i v
@B) i iv i il
©) i i iv i
D) iv i i il

(a) o ¥ BT i UEHA HifeHe
EErIpEs

(b) TEFA HRR il T
(c) P UThIT  iii. Hieifoe
(d) foregedt iv. TR
E T

@ ® (@© (@
(A) v i il
B i i iv
© iv i 1 il
D) i i i iv
el ThE P Yo Aty & G TR &

FHeT IHTe Tar =t fafa

(a) FHEA i aﬁﬁﬂ%
(b) AT ii.
(c) @ 1il. Eﬁ?
(d) FERTEA  iv. wieS dfad
E T

@ ® (@© (@
A 1 i iv
B) i i v il

© i dvoii
(D)
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44.

45.

46.

gl A O T WRE vEEe @
TE - 11§ 53 T 3 ot & oA
gHferd Hifs
-1 -1
(a) s i fOR ome fem
e afte=
(b) s ii. TeT W TAR
(c) 3MTHS  iii. I Tord &
(d) UA-3MOeT iv. AT HHT A
GED
E T
@ G © (@
(A) i i il iv
B) i iv i i
©) i i iv i
@) iv i i i
GEr — [ gt — 11 % 91 gaferd &
-1 -1
(a) U9 1. 9|9 -1
(b) FFM i, S HIT
(c) ToTdr iii. 9T gwT
(d) TEAHR v, Hl E2)
S [EIgED)
T
@ G © (@
(A) i 1il i v
B) i i iv il
© i v i i
D) iv i il i
frefeiaa st gufera i
-1 =R-11
I ¥Fa 1. 3
e
I gare 2. U "fed g
[l ==t fFo 3. @m TadesR
IV 3 4. IR
E T
1 Inm 1 1Iv
A 4 1 2 3
B) 4 1 3 2
<o 1 2 3 4
D) 2 4 1 3



47. Match the items in  List-I with
List-11.
List-1 List-11

I Clay Modelling 1. M.K. Gandhi

II Pre basic 2. 6 months—72
education months
children

III International 3. Imagination

Women’s day & creativity

IV Beneficiaries of 4. 8" March

Supplementary
nutrition in ICDS.
5. 8" July

Code :

I nm m 1
(A 3 2 5 1
B) 2 5 4 2
<) 3 1 4 2
D) 1 3 2 4

48. Match the following in List-I with

List-11.
List-I List-1I
(a) Changein 1i. Self reliance
knowledge

(b) Changein ii. Doing things
attitude

(c) Changein iii. What people
confidence know

(d) Changein 1iv. Reaction towards
skill certain things

Code :

@ () (¢ (@
(A) i v i i
B) ii i i iv

© i oiv 1 i

49. Match the traditional methods of
communication with the State in

India.
List-1 List-11
Traditional Name of the
Method State

(a) Odissi i. Kerala
(b) Oyil Attam ii. Karnataka
(c) Kathakali iii. Tamil Nadu
(d) Yakshgana iv. Orissa
Code :

(@ () () @
(A) v i 1 i
(B) ii i iv il
© iv i1 il

D) i v i i

50. Match the symbols in List-I with
words in List-1I.

List-I List-1I
(@ md i. Chi-square
(b) 2 1. mean

(c) x? iii. Sumof

@ X iv. Median
Code :

@ @ © @
(A) i i i iv

@B) iv i i i
©) i i v il

D) iv i i i

D) iv i i iii
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47. E-1 & TR B G-I T e 49. ALl § T HUR I IR fatar

e -1 e -1 =l 11 7 5 Tt o |y gaferd
1. fagt & vfoeg 1. wA. &, TR -1 TR-11
A e fafer T
1. 9d - gi=er forem 2.;;}13—721413&; @ sifsd R
IIL. SR AiEen 3. SRR ud (b) A i, FICH
feerer GTICHHAT (c) Fuwett i, dferETg
IV. ﬁwﬁfggﬁ 4. 89T (d) T v, s
5. 8 [eTE B
T @ (b)) () (@
I o m Iv (A) iv 1 1 il
A 3 2 5 1 B) i i v i
@ 2 5 4 2 (©) iv i i iii
© 3 1 4 2 D) i iv i i
™ 1 3 2 4

8. TH-IRGA-NFTIGHT D o b e v R

‘Fﬁ-l 'Fﬁﬁ-ll e ==
(a) aﬂﬁw i, STCAMFRar e .
(b) ﬁﬁ ii. R S
(c) favam@®d  iil. @ F TS € | (b) X . HeT
SIReT € 2 il wA
@ jgﬁmﬁ iv. gg;?ﬁqﬁ @ x v e e
F: ®e:
@ G © @@ @ G © @
(A) i ivoodi i (A) i i il iv
B) i i i v B) iv @i i i

C m iv 1 i ) o ...
<O 1 n o iv il
(D) iv i i i

D) iv i i i
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